<« RI%FER/RIEER

:ﬁﬁ:&. / :ﬁfﬁlﬁﬁ

2 IR

B/
@ i5ERE [ORFN @ D/VAE
] T nE R3 NE
RN gAY RIiEER | K2 %154 WE | A 2~8 | 0 2~40 £1.0
T EES S 10 < 60 o
NFD51 | NFD56 | NFD61 BT 150K | Asker C25 3 Sk
NFD52 | NFD57 | NFD62 ZPIRE |Asker C8 | B 61~100] =20
NFD53 | NFD58 | NFD63 | B¢ | JASHRER |Asker C30
NFD54 | NFD59 | NFD64 BEERR [,y ¢35 BE
NFD55 | — NFD65 Tl R )
@ [z
o ATBEER, SRSEENT, P\ . )
WL SE ARG, FRE; W(TCHERREY) Y (EHEEEY) s @ P mIMURIEEZE
o B HRIBRIR, 2R T
BES.
SuAR= £ |
= 01402 O HT2800, SHIEEAEHN
Sldadn RIIBISR, IARARE )
T HOEENRE L. =1
MR F—0/m
@ RJisER @ RItEER
s sipsem | HERR S
K@ D v T BBE OS5 - B | g | T | MERE | s
52 ] RB | gy BORU
8|234 NFD61 2] w
10 3456 NFD62 05(25;';) B e
@) | @ 12| 4568 - NEDes | 107100 (D<acmf, D-v25; [ 5| v |(50PCS/®)
NFD51| NFD56 ;g 4 g 2 g :g = |, NFDes D>408f, D-V28) || (EHRE)
NFD52 | NFD57 £
NFbs4| NFoss (30T S e e 071620 & v |ocsm X
NFD55 35 8 10 12 16 20 25 s (EHIE) | ij% ) Yy v R
NED®1 6 L PR ED
40 Q1P ) A5 ED 8* NFDSZ} 8 e %iﬁ%g
— e e e 10 WRERTE  NFD51—D6—V2—T3— W
i JEFTFNFD56/57/58/59, W e iEn [t |
O #HEIGERT /57/58/ ¥ = - B
= i [100% BERR
O FBUNGD)
. &5 @ ABRIRE
o GEEE L ggiE TP T TR
NFK81 - S TR —
NFKez | EPOMERE 7 pmm Réjozs 20 | o
NFK83 s ER A% s | =8y ||
TNFK84 | mEmRE [DRON 'ﬁ*a gﬂlﬂ*ﬁng' AB|C10 750 940] s
NFK86 BEBRMEM R 150~290[ 65
NFKet - SEEE R e T M
NFK88 . 3 £ ]
“NFK89 | STRES = AR B (025 [ TR‘I =
TNFK91 | SRR R NEETH P P N
NFK92 TR T
NFK33 BEHE %E ARk R 15~25 | 20
NFK34 £} x| C20 30 25 N ~
NFK35 3%95,,%5 za’g*ﬁ%ffz*ﬂr e C15 TR AR
NFK36 | oo | mmpmes FAERRAL NFK34/36/38/40  NFK33/35/37/39
NFK73 ’ = BEHEEMEIEE R B |C35 NFK74/82/84/87  NFK73/81/83/86
NFK74 Forh AR B = NFK89/92/94/96 ~ NFK88/91/93/95
:Egg BEHA %Eﬁﬂgﬂ%*ﬁ&ffz*ﬁf B | c20 NFK98 NFK97
_NFK38 | NFL82/89 NFL81/88
NFK39 = GEEERIE
NEK39 SRDEPEHORENH |5, o1
NEre EEkRen E DS IRENE a6 |cas S,
NFK95 ¢ sy SRBEMEOMERE @ HERE
“NFK96 | FEMREVAKBIR AR =) C38
NFK97 ; DEHEYMEMRILE R
“NFK98 | FaEFEBEVARIBIE = Py ee] B C38 A ‘ ‘ T J—Ll
NFL81 X . 5 BT
—NELST mePOMsiap oD L BN g6 | cos
L Ema TR DD IEMIIBENE g6 oo =
MR E—0/k
e B/NEERI10 L) BANERI10 T @ HhEM
: T ;
i) A B @ = A B 55 - 10~
NEKS1 Neket neva vt S TN R
NS N e el s T eI
20~500 | 20~400 | 10 15 20 =
NFK86 NFK35 NFK93 NFL88 B
NFK87 NFK36 NFK94 NFL89 25 30* H 2Ll
NFK88 NFK37 NFK95
NFK89 NFK38 NFK96

O HHEAERFNFK33/34/35/36/37/38/39/40,



	页 1

